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QUESTION 1

Where are the First Failure Data Capture (FFDC) logs, core dumps, and stack traces stored when a Veritas Cluster
Server agent attempts to execute an entry point and fails? 

A. /var/VRTSvcs/log/type where type is the specific agent type 

B. /var/VRTSvcs/diag/log/FFDC 

C. /var/VRTSvcs/diag/agents/type where type is the specific agent type 

D. /etc/VRTSvcs/FFDC/dump 

Correct Answer: C 

 

QUESTION 2

Which two tasks are performed by the Veritas Cluster Server DiskGroup agent? (Choose two.) 

A. It optionally mounts file systems and volumes. 

B. It sets all diskgroups to autoimport=no. 

C. It sets only the defined diskgroup to autoimport=no. 

D. It automatically discovers SCSI-3 disks. 

E. It uses vxdg commands to verify the diskgroup is onlne. 

Correct Answer: CE 

 

QUESTION 3

What happens when a split-brain occurs and I/O fencing is disabled? 

A. All nodes are placed in jeopardy membership. 

B. All service groups are autodisabled. 

C. Nodes on each side of the split try to bring service group online. 

D. All nodes execute a stop operation. 

Correct Answer: B 

 

QUESTION 4

Which resource type can an administrator use to mirror the state of another persistent resource? 
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A. Phantom 

B. Proxy 

C. VolumeSet 

D. NotifierMngr 

Correct Answer: B 

 

QUESTION 5

What is the purpose of the AutoClearLimit attribute? 

A. It defines the number of attempts to clear the Faulted state of a resource on all nodes. 

B. It defines the number of attempts to clear the Faulted state of a service group on all nodes. 

C. It defines the number of attempts to clear the AutoDisabled state of a service group on a node. 

D. It defines the number of attempts to clear the Faulted state of a resource on a single node. 

Correct Answer: B 

 

QUESTION 6

Which command should an administrator use to generate an encrypted password for editing a resource in the main.cf
file? 

A. vcsencrypt -vcs 

B. hares -modify 

C. vcsencrypt -agent 

D. hatype -modify 

Correct Answer: C 

 

QUESTION 7

Which service group dependency type supports two applications being online on any system in the cluster? 

A. parallel 

B. global 

C. local 

D. remote 
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Correct Answer: B 

 

QUESTION 8

An administrator wants to place an existing application under high availability control. Which requirement must be met to
place the application under high availability control? 

A. The application must have defined start, stop, and monitor procedures. 

B. The application must have an unlimited license model. 

C. The application must have an enterprise agent available on SORT. 

D. The application must run in kernel space. 

Correct Answer: A 

 

QUESTION 9

Refer to the exhibit. 

In a three-node cluster, the orasg service group is online on one of the systems. The service group has the resources
and resource dependencies shown in the exhibit. All resources are critical resources and the following service group
attributes have been configured: 

1.

 ManageFaults = ALL 

2.

 FaultPropagation = 0 

3.

 AutoFailOver = 1 

What is the expected behavior when the mnt2 resource fails? 
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A. The service group fails over to one of the other systems in the cluster. 

B. The service group is taken offline and remains offline in the cluster. 

C. The mnt2 resource is taken offline, all other resources remain online. 

D. The mnt2 resource and all its parent resources are taken offline, the rest remain online. 

Correct Answer: A 

 

QUESTION 10

Which Veritas Cluster Server command should be used to change OnlineRetryLimit for all Mount resources? 

A. hares 

B. hagrp 

C. hatype 

D. haconf 

Correct Answer: C 

 

QUESTION 11

A cluster is configured to use coordination point servers for data protection. 
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What happens to the service groups if connectivity between one of the nodes and the coordination point servers is lost? 

A. The service groups fail over to systems that remain connected to the coordination point servers. 

B. The service groups remain online, but offline groups are unable to come online. 

C. The service groups remain online and related messages are logged. 

D. The service groups are taken offline until connectivity is resumed with the coordination point servers. 

Correct Answer: A 

 

QUESTION 12

What is the primary benefit of implementing the Intelligent Monitoring Framework feature for resources? 

A. monitoring of cluster-to-cluster heartbeat 

B. monitoring of Virtual machines 

C. immediate notification of resource state change 

D. monitoring application outside cluster confuguration 

Correct Answer: C 

 

QUESTION 13

While reviewing the system logs, an administrator notices the following entries on a previously running cluster node: 
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Which two actions should the administrator take to determine and resolve the issue? (Choose two.) 

A. check whether the link has become physically disconnected from the system or switch 

B. check the contents of the /etc/llttab file 

C. verify the NIC agent is started 

D. forcefully restart llt with lltconfig 

E. check the NIC/link health and replace the NIC/link if necessary 

Correct Answer: AE 

 

QUESTION 14

Which two actions must an administrator take to upgrade an application under cluster control? (Choose two.) 
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A. verify the application agent supports the new version 

B. switch the application service group to another node 

C. freeze the application service group 

D. disable the application resources 

E. stop the cluster service on all systems 

Correct Answer: AC 

 

QUESTION 15

An administrator is evaluating the suitability of an application to be clustered which can failover to another node in the
cluster in an event of an application outage using Veritas InfoScale Availability. 

Which condition prevents the application from being made highly available? 

A. The application requires the use of solid state drives for performance. 

B. The cluster is NOT configured with public low priority link. 

C. Individual unique instances of the application cannot be monitored on the system the application is running. 

D. After a crash, the automated clean-up takes at least one minute before the application can be restarted. 

Correct Answer: D 
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